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350 people each did one activiry ata sports centre.

‘Som of e pele went svimming.
Some o e pepleplayed s
T et o he pecpe et g1

21 of e pcple e female.
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13 () Atransportlorry consists of a cab and a trailer.
“The trailer has a volume of SOm.
Alfie makes 2 model of this oy using a scale of 1: 72.

Wk out the volume ofthe railer n Alf's model, ghing your answer i cm.

(b) Al paints his model lorry.
He has ight colours available.

He decides 1o paint the cab in one colour and the ralle i a diferent colour

He then wants 1o paint his name on the trailer.
The name must be i a different colour to the traller.

Inhow many diflerent ways can Al paint his model lory?
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6 The table shows the children nominated to win the subject prize in Mathematics and the subject
prize in Engiish.

Mathematics English
Aice Aice
Bon Glaire
Emma Gabi
Paddy Simon

“The winner of each subject prize is picked at random.
Itis possibe for Alce fo win both prizes.

In what percentage of the combinations of prize winners does Alice win at least one prize?

e B TA]




image12.png
'Diners choose one starter and one main from the options given in the table below.
Vegetarian dishes are indicated with a (1)

Starter WMain
Cheesesalad (v) | Steak and chips
Prawn cocktal Fish and chips
Mozzarella sticks (v) _| Tomato pizza (v)
Pork chops
Nut cutlet (v)

(a) Work out the fraction of al the meal combinations which have at least one vegetarian opion.

(@ &)
(b) Diners also choose one of 6 dessert options.

How many different three-course meal combinations are available?

(®) @
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14 John has
- 8different shirts
- 6different hats
4different scarves.
(a) On Monday, he picks a shir, a hat and a scarf.

Show that there are 192 different combinations he can pick.

m

(b) John thinks that if he picks just two of the three items of clothing there will be more than
192 combinations.

Is he correct?
‘Show your reasoning.
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17 Arestaurant menu has 8 starters, 12 mains and 6 desserts.
A customer can choose from the following meals

« astarter and a main,

+ amain and a dessert,
« astarter, amain and a dessert.

‘Show that there are 744 different ways of choosing a meal at this restaurant.

©]




image15.png
16 On a restaurant menu there are
22 main dishes, of which ‘i‘ are gluten-free.

7 rice dishes, which are all gluten-free
5 naan breads, of which 40% are gluten-free.

This Meal Deal is on the menu.

Choose one main dish, one rice dish and one naan bread

How many of the possible Meal Deals are totally gluten-free?
[3 marks]
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15

15 (@

15 (b)

There are
7 different sandwiches
5 different drinks
and
3 different snacks.

How many diferent Meal Deal combinations are there?
[2marks)

Two of the sandwiches have cheese in them.
Three of the drinks are fizzy.

Eva picks a Meal Deal at random.

Work out the probabilty that the sandwich has cheese n it and the drink is fizzy.

Give your answer as  fracton.
[2marks)
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15 Ann picks a 4-digit number.

‘The first digit is not zero.
‘The 4-digit number is a multiple of

How many different 4-digit numbers could she pick?

[3 marks]
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16 There are three dials on a combination lock.
Each dial can be et o ne f the mubers 12,3, 4.
The hre digit umber 53 i one way the diss cun

s
st 5 shown i the disgram.

e
=

o]

(8 Work ot the muiberofGiffent thee gt mbrs fatcan be st for the

combination lck.

(5 How many ofthe possble theedigitmunbrs avethce diffrntdigis?

(Total for Question 16 is 4 marks)





image2.png
11 In a restaurant there are
9 starter dishes.
15 main dishes
8 dessert dishes.

Janet is going to choose one of the following combinations for her meal.

a starter dish and a main dish
or amain dish and a dessert dish
o a sarter dish, a main dish and a dessert dish

‘Show that there are 1335 different ways to choose the meal.

(Total for Question 11 is 3 marks)
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1 Jeffis choosing a shrub and a rose tree for his garden.
‘At the garden cente thee are 17 different types of shrubs and sorme rose trecs.

Jeffsays,
“There are 215 differnt ways tochoose one shrub and one rose tree.™

Could JefTbe comrect?
‘Vou must show how you get your snswer.

(Total for Question
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12 Marie bas 25 cards.
Each card s » difeent syl an it

Mari gives one card to Shelle and one card to Paine.
(8) T b sy ifferet ways cam Mirie do tis?

@

These sce 12 boys sud 10 g i David's lses.
‘Darid i gong fo pik thre differentstudents rom bis class and vritetheisnames i 2
it axder.

The oxder will be
boy [ or | e
=il boy
boy e

@

(Total for Question 12 is § marks)
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13 There e 14 boys and 12 s i s

Work out he ol aumber f ways has | by snd 1 il can be hosen T the s

362 marks)





image6.png
15 There are 17 men and 26 women in 2 choir.
The choie i going o sing 22 concert.

Ou ofthe men 23 e of the omen ar going fo be chosen o ke  pis o sing he
St sone.
(@) Work ot he mamber of diffrnt pais it can be chosen.

Tvo of the men are tobe chosen to make 2 pai o sing the second seng.

‘Ben thinks he mamber f diffrnt pais it can be chosenis 136
‘M ks th mambr of ifrentpairsthat can be chosen 5 272

) Who s comet, Ben or Mark?
Gire: reason for your mswer

@
(Total for Question 15 is 3 marks)





